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@] 900 | 3 Es17FC 1 vs O AIKEIN Es17FC
@] 930 | 3 KHitsss 5 vs 0 ta1—XFC KHAitsss
@[ 1000 | 2 IR/ 3 vs O Fitésss IR/
@] 1030 | 2 SHONAI FC 1 vs 2 LIBERO FC SHONAI FC
®| 11.00 | 1 ') A—S B 5 1 vs O th /B sss T A—SHERIE
®| 11:30 | 1 FELLOEWS AC 0 vs 1 ACE ONE FELLOEWS AC
@] 1200 | 3 BIKE/\ 4 vs 2 +1—XFC BIKE/\
1230 [ 3 Ea17FC 2 vs 1 KHisss E17FC
@[ 1300 | 2 Fitdsss 11 vs O1 SHONAI FC Fitisss
1330 | 2 IRy 3 vs 1 LIBERO FC IRy
a|( 1400 | 1 h/HTsss 21 vs @2 FELLOEWS AC h/HTsss
| 1430 | 1 T') A—S 1% 5 3 vs 2 ACE ONE T A—SHERIE

BER [ —F U—9 (fRra—hk) BA LnF—/—
M| 9:00 3 IO A—IL 8 wvs O EEfsss IHEILIF—IL
@ 930 | 3 SENA-FC 1D vs 2 ARifsss SENA-FC
3| 10:00 2 Vivace FC 20D vs O Ea17FC Vivace FC
@| 1030 | 2 EEERJFC—T 13 vs @1 EBZRUFC—I BEERJFC—T
®| 11:00 | 1 IRy 5 vs 0 Honda FC IRy
®| 11:30 | 1 <A FS 5 vs 0 ERE— <A FS
@| 1200 | 3 EXfsss 0 vs 3 SENA-FC EXfsss
1230 | 3 [ ZHELVA—IL 1@ vs D1 ARifsss IVt A—IL
@] 1300 | 2 Es17FC 5 vs 3 EBZRUFC—T Es17FC
13:30 2 Vivace FC 3 vs O ERERJFC—I Vivace FC
| 14:00 1 Honda FC 2 wvs 1 EREZ Honda FC
@ 1430 | 1 T R/\Y 2 vs 1 <!)A FS IRy

BER [ —F U—10 (dta—k) BA IF—/8—
D[ 900 | 3 Honda FC 8 wvs O AKE/N Honda FC
@] 930 | 3 HLtksss 4 vs 2 EQfssss Htksss
@] 1000 | 2 ) A—S x5 0 vs 5 <A FS—A T A—SHERIE
@[ 1030 | 2 fRisisss 7 vs 3 Green Field fRfEtsss
®| 11.00 | 1 SENA-FC 2 vs 1 Ea17FC SENA-FC
®| 11:30 | 1 fHHsss 2 vs 1 <')A FS—B fHAHsss
@] 1200 | 3 BIKE/\ 0 vs 3 Effizsss BIKE/\
12:30 3 Honda FC 9 wvs 1 Hittsss Honda FC
Q| 13.00 | 2 T') A—S 1% 5 5 vs O Green Field T A—SHERIE
13:30 | 2 <A FS—A 3 vs O fxf8isss <A FS—A
a| 14.00 | 1 Es17FC 1 vs 5 <)+ FS—B Es17FC
@] 1430 | 1 SENA-FC 4 vs O FHHEsss SENA-FC




